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YpaBHEHUS




[lpocTenLLne ypaBHEHMU!

C

log, f(x)=c < f(x)=a

~h

/Og f(x)b = C <«

0, log. 16 = 2;
1



MeTogq moTeHOHPOBAHHU 4.

f(x) > 0,
f(x)=g(x)

To ecmw log, f(x) =log, g(x) < {

2. PemuTe ypaBHEHME
log; (x* — 3x — 5) = log; (7 — 2x).



MeTogq moTeHOHMPOBAHH 4.

PemuTtp ypaBHEHHE
log; (x* — 3x — 5) = log; (7 — 2x).

Pemennue.

7T—-2x >0
x*-8x-5=T7-2x;

{ x <35, x <33, x = —3.

— 4,
x’—x—-12=0; 1

X =-3;

Omeem: —3.



3. Pemuts ypaBHeHHE log, .4 (x° — 1) = log, .4 (5 — x).

PemeHnnue.

(X2—1:5'X, (X2+X—6:0, (|:X:-3’

< 5- x>0, ) X< < X=2
X+4>0, X > —4, -4 <Xx <5,
X+4=1; X #=-3 . x#-3;
X =2

Omeem: 2.



MeTon BBefeHNS HOBOM HmepeMeHHOI.

4. PemuTer ypaBHEHHE

3 logg;x + 5log  x - 2 = 0.



MeTton norapugpmumBaHus.

5. Pemuth ypaBHeHHEe X °6* = 0,04.

Pemenue. 1)

2) logs x'7%* = log; 0,04.

log; 0,04 = log; (—213) = logs 572 = -2.

Omeem: 25; %



NOMALUHEE 3AA0AHME
Ne 1350-1358 (2)



Jlorapndpmunyeck
HepaBeHCT




MeTonq moTeHOHAPOBAHMUA.

Ecnu a>1,mo log, f(x)>log, g(x)<= {

Ecu0<a<1,mo log, f(x)>log g(x)= {




Teopema 1. Hepasenctso log,, f(x)-log,,

PaBHOCUJILHO CHCTEME

3

 f(x)- g(X)

— l

a(x)—1
f(x)> 0,
g(x)>0,
a(x)>0;

Harnpumep log,, ; (x> +4x)+log,(x* +3x—4)>0

log, : (x> +4x) -
((Xz +4x)—(x” +3x—4)

log,s(x* +3x—4)>0

I\

> 0,

0,5-1

x> +4x >0,

x> +3x—-4>0.

g(x)<0



TeopeMa2. Hepasenctso 109, a(x)—logy, (x@)

PABHOCUJIBHO CUCTEME

Pemts HEpaBEHCTBO

2
lOg(4X2+1)2 (X2 —4x + 5) > log(

3

<

.

(a(x)— TN f(x)- 9()=

(F()-1Ng09-1) =

f(x)>0
g(x)>0,
a(x)>0;

x2+4x+1)(X2 —4x+ 5)
10g(4x2+1) (X2 —4x+ 5) = 10g(3x2+4x+1)(X2 —ax+ 5)

((x* —4x+5-1)-(4x> +1-3x> —4x —1)

J\

(4x> +1-1)-3x* + 4x +1-1)
(4X2-+1y
3x*> +4x +1> 0,

<0,

> 0,

x> —4x+5> 0.



NOMALUHEE 3AAHMUE
Ne 1407-1414 (4er)



CTTACNBO
3a YPOKI




